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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check
that this Booklet does not have any unprinted or torn or missing pages or
items, etc. If any of the above defects is found, get it replaced by a Complete
Question Booklet of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, In the
appropriate space provided for the purpose, inthe OMR Answer Sheet.

3. Enter the name of the Subject, Req. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit
the Optical Mark Reader (O.M.R.) system, special care should be taken to fiil
those items accurately.

4. This Question Booklet contains 100 questions carrying equal marks. All
questions must be attempted. Each question contains four answers, among
them one correct answer should be selected and shade the corresponding
option in the OMR sheet.

5. Alithe answers should be marked only on the OMR sheet provided and only
with a black or blue ink ball point pen. If more than one circle is shaded /
wrongly shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any fturther markings in the OMR Answer Sheet. Be seated till the
OMR Answer Sheet is collected. After handing over the OMR Answer Sheet
to the Invigilator you may leave the examination hall.
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1. The complex network of interconnected food chains is called

a) Trophiclevel b) Foodweb
c) Ecological pyramid d) Ecotone
5590 FOTYeD Hoderr S Er s Do oI 2

a) LR e WOt b) )Te® @°
C) IFOCRVTITELT LTLT d) QFpcednes’

2. The area to which a species is biologically adapted to live is known as

a) Niche b) Habitat C) Succession d) Adaptation
2,000 NO3 ﬁ@@d@mﬁe@ﬁ% 2§ 8530 N TRODBHOT 23N, DTOT FB0300ETO ?
a) IR b) oo ebemts C) AT d) ZRoDBRYYNE
3. Earth Day is celebrated on
a) April 22 b) March 21 c) May 22 d) Septemberb
T, OF' T B FFNT 03N OF SWORCNIZT ?
a) e 22 b) =021 c) Roe22 d) RZowo'S
4. Forests in the Arctic are called
a) Savanna b) Tundra c) Prairies d) None of these
556 £35° SOTOE FOBR DTOTI TTOINWTO ?
a) AT, o) Jclelen) C) F,0=° d) crmae 8y
5. The largest brackish water lake in Asia is
a) Chilka lake b) Vembanad lake
c) Woolarlake d) Sambar lake
LTR,EOT 28 TRTE LR Qe e
a) e, Jew b) 0T SeFe
C) YNOTE e5® d) IoTOT® Cez®
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6. Ramsar Convention refers to the conservation of

a) Deserts b) Wetlands
c) Agriculture lands d) Sholas
83 FINT ARSI FOTIRLD *ToRF moT* BT RIY DHATDOWBD 7
a) TOTOLIAW b) Sz o C) RBAOL PR  d) Teedw
7. The animal which consumes decaying organic matter is called
a) Carnivore b) Detritivore c) Herbivore d) Omnivore
BRYE TRINTTD 0T WROBITI ST9,£3030 DTOTI) FTOINWTO 7
a) FORPCT? b) @e3 t3peT? C) 5@)@@ d) %P’

8. The area where all the living organisms interact with each other and their
environment is called

a) Blosphere D) Exosphere

c) Mesosphere d) lonosphere
2,000 ANOT TORTTE) 23eNE0 uodir%ocﬁa BRODBRHOTD WHIBOR a’%drf’éod:aﬁg{ DFOT
FOO30=30 ?

a) 03RCJAOIT? b) ~BRERCIT

C) &)oe"-iraeao:boﬁ d) woﬁaﬁbeﬂipboﬁ

0. Green revolution is assoclated with

a) Sericulture b) Agriculture c) Fish culture d) Prawnc

HATD 59,0803 ARNTD. odnd)cﬁﬁ_é 020RTITHT ?

a) Oex b) &,&mo0D C) QOEIVMOF d) T 8L
10. The Indian Parliament passed Biodiversity Bill in the year

a) 2000 b) 2005 c) 2002 d) 2004

2368 BAG, W SREERI0NY 3O0INT DR

a) 2000 b) 2005 c) 2002 d) 2004
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11. Which chemical was responsible for Bhopal gas tragedy 7

a) MethylIso Cyanate p) Benzene Hexa Chloride
c) Tri Nitro Toluene d) Ethylene
23RO 2D 'c:bdoéé& FOULITIOT TR OVT
a) QO T AT AOIDJELT D) eJoedes” B 3RO,
c) &, 5ERe o d) oo
12. Photosynthesis takes place in presence of
a) Chloroform b) Chlorophyil c) Phosphorus d) Polymer
022, 8703emrs 30300320 83 FING CIRTYTOOTS HTWOLITHTII ?
a) BRCTRCFTOTRT®  b) TRTREQT® C) FORTA’ d) OTT*
13. The Unit of measurement of intensity of sound Is
a) Declibels D) Lux c) Parsec d) Ergs
BT T OTZCIORI 0IT9E3 CI0E Q0TI RPLIRITTO ?
a) WRI® D) ©3° C) &2,0oA% d) eﬁdm

14. A combination of smoke, fog and chemical pollutants seen in industrialized cities

IS KnOwn as

a) Sol b) Smog c) Fallout d) Soot
TR, IO TWIV TIRDCIT FOTBNY 0T, 3R DJOTR e]ovebiniovl)

a) e® D) v C) OO d) =02

15. Enrichment of water body by phosphorus and nitrogen is callea

a) Succession b) Eutrophication
c) Stratification d) Precipitation
LeOTY FTRATA" W0 F LR BT a?mwfo@déod P OLIOMITS TWOTTOTO

a) NFCRT D) o30EiR eQTEST
c) m@wﬁww d) Tr2E3eoT
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16. Major cause of Ozone depletion s

a) Chlorofluorocarbons b) Polyphenols
c) Dioxins d) NO,
2,220 TDOTIZO300 BFREI0IRNLD 008, 50D
a) BRITCPERPRTATIWE D’ b) TOQeTO
C) WOIRE’ d) %
17. The atmosphere, hydrosphere and lithosphere are connected by
a) Hydrological cycle b) Nitrogen cycle
c) Oxygen cycle d) Carbon cycle
s FENT CIRPTOE T OI0RAEY, BORREE OB HERRREY LN BOT3LTIZ ?
) WO 3T b) Fednes’ 238
C) SWOWTT 235, d) oo 33,
18. The main energy source for the environment IS
a) Solarenergy b) Chemical energy
c) Bioelectric energy d) Electrical energy
TORTHA BTN BORRITIR T IR0 ?
a) 20 T b) TORPOOT T3
C) 230 DTWLTYS 38 d) 2@ T8
19. Cigarette smoking leads to the inhalation ot
a) Sulphur dioxiae b) Carbon dioxide
c) Nitrogen peroxide d) Carbon monoxide
ERTITIEE CARTTIT, BOONVEIT ?
a) AT FT T b) aorown BT
C) Finewd” WO, T d) QoMmoOT RATOT T

SPACE FOR ROUGH WORK



+

LT T 7 VIS - 499

20. Acid is an example of

a) Corrosive waste b) Infectious waste
c) Radioactive waste d) lgnitable waste
s BENT CIRFTO BT, 20003 SVTTODHOES ?
a) 3SR TR’ b) az3godx® Fexe,
| C) Teeodnwdsn® &Sea’ d) an e SR
; 21. Vermicomposting is a method of
a) Producing compost manure b) Producing worms
c) Management of fabric waste d) Destroying worms
NTTY BT DTHI)
a) QOTRRWT ST D) NTTOW NS
C) FRWT 88 LU0 d) QBT T
22. The intensity of earthquake is measured in
a) Beaufortscale b) Richter scale c) Mohs scale d) Nano scale
méoﬁda’% QIRTYTIOOT LPCDVEOTT ?
a) LR FRT Feer b) 08D Reesr C) Jrex® e d) SR BT
23. Bandhavgarh National Park is located in
a) Rajasthan b) Assam c) Madhya Pradesh d) Manipur
IO To3y,603 emmﬁé DI DT 9
a) mmmﬁaﬂ b) e2mo0 C) SOTT|TICD d) =0eIR)T
24. The study of individual organism is known as
a) Synecology b) Population ecology
c) Autecology d) Human ecology
%0730 Z3EQ0TR BOVBD STEROT LT3, ORI DT FO0I0ETO 9
a) AT AT b) TR TSI TV
C) 33 DT d) BRITOT DB
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25. The resources that can be regenerated by natural ecological cycle is called

20.

27.

28.

29.

a) Renewable D) Non-renewable c¢) Exhaustible d) Natura
RDOAT BT T)SOF BT8O0 ROVZ DTVOTI> FTOITT 7

a) DT DEOINET TOT3) b) RVTT TEODT Rowe)

C) TONT BRIV d) 7,308
The place where the river meets sea is called |

a) Estuaries b) Oceans c) Lake d) Wetlan
D0 B AT, FETIT 239N, $F0T3d FEOX0T ?

a) QROEA b) mononed c) <Sez® d) 3ees
The historical monument that is affected by acid rain is

a) TajMahal b) Pyramid of Egypt

c) Pisa Tower d) Golden Temple
£323030P 00 BROTIBRAPNTIR 0SToXT Q05

a) ToWENB/E® D) B32355° LTTONED

C) LT L3DT° d) Neeus” LBome’
The primary consumers are also called as

a) Herbivores b) Carnivores c) Enzymes d) Noned
0PI YWEFTDV DTOTO FEOI0ITT) 7

a) Séwﬁ\peo; D) BAFCT”. C) Q0T d) oz
Z00s are examples for

a) In-situconservation b) In-vivo conservation

C) Ex-situconservation d) Ex-vivo conservation
03,63 RONTOOIY) BINTE CIRYTE LVeBTE ?

a) Q- AL ROTTES D) a7~ Fpe RoTTES

C) 5= ﬁodﬁﬁ d) <5 -QTpe ﬁodiﬁ
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30. Acid rain contains
a) Sulphuric acid
c) Oxalic acid |
9509 TIFCI0D CIRTT FWAOTI BRBTITT 7
a) AOR OF° SATF
C) STRIT ST

d) Acetic acid

d) €2R83F° SATEE

31. Jim Corbet National Park is located at

S a) J & K b) Uttarakhand c) Kerala
23530 FoLIF e 093y €03 YVTID, DRT T ?
@ a) 230 B D) evZTamnorE C) 3eTy
32. ‘Project Tiger’ was launched in the year
a) 1973 b) 1964 c) 1998
TS EMoT 0N 0B SR
a) 1973 b) 1964 c) 1998

33. The controversial dam across the river Narmada is
a) Sardar Sarovar b) Hirakud c) Bhakranangal
WEY DTTTOTI IOF T IO Gﬁ?@ﬂéé&i QINTHTO ?
a) RUOT® ITREIT b)) &ToBIEs C) RTTOONS

- 34. Leader of ‘Narmada Bachao Andolan’ is

_ a) Vandana Siva
2 c) Menaka Gandhi

'DOFTIO LIV SOTRCOT T o0 03NT) 9
a) WOTIT0 B b) Soezm Caplckiey

b) Medha Patkar
d) Mayilamma

C) 080T Moo

35. The most harmful of ultraviolet radiations are
a) UV-C D) UV-B c) UV-A
B3 TYNTNTD 20010 ToRTTB 3TN OXREED) 7
a) 0320~ D) O300- C) C320e-od

b) Hydrochloric acid

MS - 499

D) HTRTROT SATF

d) Tamil Nadu

d) ST

d) 1970

d) 1970

d) Sutlej

d) ooty

d) Allthe above
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36. Which of the following is poorest in water holding capacity ?

a) Clay b) Loam
c) Sana | d) None of the above
3 ISNSRNTE CIRTTE, 92,08 TR QeI 3BT BRVBRIIW 38 QTIRT ?
a) 3¢ b) e C) T d) CRmTR eL
37. Soil conservation deals with
a) Reforestation b) Contour planting
c) Strip cropping d) Allthe above
T, ROTBFBOI DT OSTTHTO 9
a) OmTEREBT® b) TooLRTT T oL3OTY
C) AT TR0 d) 2Ok
38. Arenewable source of energy is
a) Petroleum b) Coal c) Nuclear fuel d) Trees
83 BINTRNTE_ CIRT)T FHTTOZB OIRTI SO TR 9
a) Zednedo3do b) 3OTE C) SREMINT el  d) SOTNED
39. Lions are found in
a) Western Ghats b) Corbett National Park
c) Forests of Madhya Pradesh d) Gir Forests
8 FINS 00T LPNTY JOBNTYR, BRETBITOTI 7
a) TOFD PO D) To07 LI T,RIC® TF €
C) BOTBZTEST FOTBONED d) NT® TN
40. The relationship between nitrogen fixing bacteria and leguminous plants IS an
example for
a) Parasitism b) Predation
c) Mutualism d) Commensalism
TOORIT BTN mﬁéff)od)r{% 0B e?rbtsébaain‘ '-;-a’::’%rﬁ@ﬁcbd 00T BENS Qinaﬁgm’ﬁ
TTRTHOED 7
a) mﬁmmﬁﬁw b) &BeTT*
C) m%waom@:sw d) éﬁa@gbﬁdf
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41. Name the disease caused by mercury poisoning in Japan

a) Minamata b) ltai-Ital c) Cyanosis d) Dermatitis
% ERE)_TOT 8,0 T2 0BT 0TI LV0EIDTI T
a) SOTIDIE D) VEFOIF-VEICTT C) ROSRCTNCAT® d) ®OLIe=
42. Full form of GIS is
a) Geographical Information System b) Geographical Information Source
c) Geological Information System d) Geo-data Instruction Scheme
‘22.0. 055, T TREDF THT IR0 ?
a) WCINTRI VTFO XTI 2R D) 2BOINTRRQFCT VT FT @ITT ART.

C) WOINGRUBL® VT FT ROTT AR d) cdnetdeed OF° 1@? 2,633

43. Deer is example for

a) Producer b) Primary consumer
c) Secondary consumer d) Decomposer
5 IYND co*xaj;a’é& 220030 VT ZOEBOINNG ?
) TLERKRT b) & 00 BORHTIT
C) RFOTO TOWNRTOT® d) GeFo0TPewT®
44. In which of the following forest trees shed their leaves during winter and hot
summer ?
a) Evergreen b) Coniferous
c) Deciduous d) WetEvergreen
B3 BPNT CIRT AT WM 3 WeAN 500 FOTNE ST YVTOTOZE ?
a) QWO NET b) BReIFOX
C) BREOIF® d) [eF QWO NeT
45. Which of the following species is known as Azardirachta indica ”?
a) Neem b) Mango c) Jackfruit d) Sapota
83 BENIYNTY. CdDEj)dEﬁ% 2232008 00RTF 20T FTOI0WWTI 9
a) ey b) =) C) TOTD d) ASpeed
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46. Which State proposed a ban on all types of polythene packing for the first time in
India ?
a) Himachal Pradesh b) Madhya Pradesh
c) Kerala d) Karnataka
53 TN OI00 Tos, ) WRTW WION :“»& 3e2) u#ﬁcw':’p OTIMRY
a) WRWPWBLFT[EET b)) =g oSy e C) &d@cﬁ d) LD

47. Expansion of PCB
a) Pollution Control Board
b) Population Control Board
) Protection and Conservation of Biodiversity
) Population Conservation Board

r'-«-**'-'“}

TREOF TRT TR 2

wuﬁ 5° 5’“&3@ COT LN

2.5,
) iy
b) a:am’w;& 3¢ éo £3,08° L3R
)
)

O

o), & ST AP 'c)oa:daﬁe:*ﬁ;f 05T umma@a’%mﬂ

m
d m:uj%eff:ﬁ? éO%dEgijf IRCTE
48. Moisture in the air is known as
a) Water b) Fog C) Snow d) Humidity
mvcdoémdm CAQND oz:';‘j':izL DTOT FTTLI0TTO 9
a) eTd D) o C) A d) TR

49. An example of lotic water

a) Pond b) River c) Lake d) Reservorr
VRN QIR0 ' CReUF T R LOTRHIT ?
a) 2n% D) 2O c) <ez® d) zmeRIow

50. The book ‘Silent Spring’ was written by

a) Madhav Gadgll b) Anil Agarwal

c) Rachiel Carson d) E.O. Wilson

REoLT AT :j\:iéﬁﬁ% 20TTIDTO OINTO 9

a) ew° ST D) AT enTERe’  C) Ty 5T d) 0.%. e

— ey . -— e
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51. Higher level of BOD in river indicate that water is
a) Clean b) Highly polluted
c) Contain Algae | d) Contain many dissolved minerals

o0 09 TUE Wb 08T Dot SemonddE 9

a) A NTITHI0 b) 20030 0T AT
C) mz&o&bd)@do d) T TS QTR0
o2. The Red Data book which lists endangered species is maintained by
a) UNO b) WHO c) IUCN d) WWF
B3 FPNT OINET ; Q0RO ‘Tr e PRET AV etas BREIE ?
a) 030, 2TF. . D) TR .5 L.
C) &.0300.2.95°. d) TR . TWR_.OF.

03. Which of the following is a biodiversity hot spot in India ?

a) Western Ghats  b) Nandadevi c) EasternGhats  d) Aravali
&5 FYNONTYY_ CINTTD WOTST WOIRCTERAFE T AT 9
a) TWHTO FUN b) ToTe@ed C) TPBEPLNAO d) LTome
54. The first Biosphere reserve in India is
a) Nilgiri b) Agastyamala c) Eravikulam d) Chinnar
02 TY BLTVS 2esSnnest FoOWL BY OIRRTO ?
a) LeCNO u*{ﬂigzb C) DDNBOOZTF d) BT
00. The 3 R principle of waste management is
a) Reduce, Regain, Reuse D) Reduce, Reuse, Recycle
c) Reduce, Reform, Reset d) Reduce, Retain, Regain
3 U0 ZPOT THAT OIRTO
a) URRA, 0o, OeCoRa b) TERA*, DeodRF", OR 5
C) OBARA ,Omddsﬁ ORIE3E d) SER X, 0¥, on’

ikl
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56. The term ‘Ecology’ was coined by

a) A.G. Tansley b) Earnest Hackel c) Aristotle d) Linnaeus
NDIORI RN ARV ) 2OSATITDTY OITDTY ?
a) .23 EDVCA D) ST A BT C) LORRIST d) DVO0FF
57. Greenhouse effect is caused by
a) Increase in CO, b) Increase in O,
c) Decrease in O, d) Decrease in CO,

D20 TOFT TOToT) OSNTTO0T SVOLIDNITYTO ?
a) AOMVT [T T3 5%@6

D) STWORTT émwm@dbod

C) SWWST FERIIOIPNOR)TIOOT

d) omeeOT BB T BT3RO TIO0T

58. Black Buck is a

a) Goat b) Deer c) Butterfly d) Bird
ADARN DOTT
a) x0¢F b) 230% c) Z3on d) =3
59. During photosynthesis which of the following gas is released ?
a) Methane b) Nitrogen
c) Oxygen d) Carbon dioxide
83 FFNTINT_ CIREYTO d%@ﬁoa;eﬁﬁ" 303502000 TBINTBOSINITID 9
a) OeTET® b) TOTRIT
C) E3TWIT d) Qomen BT T
60. Which of the following is one of the most endangered species of Indian Bird 7
a) Bee eater b) Paradise fly catcher
c) Owl d) The great Indian bustara
83 FSNIINTE_ 03RT 2PNTOLIVOT LPTST &8 7
a) e QLT b) T OB 59,2307
C) NRW d) & rfee® QoRODT WAT
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61. Environment Protection Act was introduced in the year

a) 1986 b) 1988 c) 1972
FORT BoTTRODL IR 0N Bod FRe
a) 1986 b) 1988 c) 1972

62. Energy stored within earth is

a) Magma b) Geothermal

c) Tidal d) Oceanthermal
&3 FYNST CINT TFOIL 3R0000. BNTOTT ?

a) s D) Bodnemaoee®
C) ¢ d) =nT T8

63. Ozone layer is present in
a) Troposphere D) Stratosphere

c) Mesosphere d) lonosphere

a) E2RETRROIT? D) m@@i@ﬁc&mﬁ‘
C) OCRRE/OIT d) 20T RRACIT®

MS - 499

d) 1989

d) 1989

64. The phenomenon of accumulation of non-biodegradable pesticide in human Deings

s referred as
a) Biomagnification

c) Biodegradation d) Bioremediation

b) Bioaccumulation

SR TERTY, T wodnernierdies ST IR Ranlenicever ﬁwawm@dsﬂg{ DTOT FOOIVTT 2
a) WCIRETIR, N TeTT D) wadmess) 0T
C) Wodpetericress® d) Lot odoerss

SPACE FOR ROUGH WORK
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65. DDT is a
a) Biodegradable b) Non biodegradable
c) Semi-biodegradable d) Naturally degradable pollutant

B.8.63 030 B TENI oI I0ET 59089 ;
a) wodnear e b) Toa* LodReam e '

C) RAOWOIRERT eTEL® d) T9,23500 G eEue” FHew Lot

66. Total water content of the soll iIs known as

a) Holard b) Chresard c) Echard d) Allofthe above

dos@gﬁ@ﬁd:d 23D 20O @o&f&f;ﬁg{ V0T FB030ZE ?

a) DRCCRTF b) 3ex0° C) Qo d) Q&R

67. Every fifth child under the age of five in India dies due to Diarrhoea. The reason for
this is
a) Inadequate purification of drinking water
b) Malnutrition
c) Lack of medicine
d) Lack of hospital facilities
(PTBEY DT TRFT SFFD B 20T B0FFD, 2080 TN TB30eDOTTEOT TOILO W4
50080 CINTYTO ?
a) BBOIVT V0T d)@peédsad BP0 D) FOIRT &STT FPeRB BVLOTIYT
c) BROOD 303 d) ©R2030 ER03

SPACE FOR ROUGH WORK
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68. Expansion of UNCED is
a) United Nations Conference on Education
b) United Nations Conference on Environmental Day
¢) United Nations Conference on Environment and Development
d) None of these
0320, DT, 2.0, 83.03) T[REIF THRT 0INTJ)TO ?
a) OVF T JeTS FORTS &° DTITCTIE
b) CIVFEE JeTT FOITT T QTR DO0WL? z3e
C) OINFEIT IeTT TIOD’ ST ), DO EWI0LF 0T T33O T00E3E
d) oInRYTR VY

69. What is “Black Lung” ?
a) Occupational Hazard to the miners
b) Occupational Hazard to navigators
c) Occupational Hazard to pesticide applicators
d) Occupational Hazard to agriculturists

T Lo’ 900

a) T YOTR,LNNT LTOITITT D) THONELT® VTR LNNY L9TTD030T0B
C) 30ToTT YVTBRENNG £5500030TITT d) TaB YUBRENNY WE00TTE

70. What is hard water ?
a) Water in ponds
b) Poliuted water
c) Water containing excess of salts of Ca and Mg
d) Water in rivers
NGR QT CINTT ?
a) TRYTOTOT LeTd
D) OOINROT T
C) ¥R, TP @BY ToNedoddo POT eTO
)

d) IO e
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71. What is edge species ?
a) The species which occur abundantly in the ecotone
b) Species on the verge of extinction
c) Rare species
d) Threatened species

2023 B D0TBERD 9
) BRENT TYIT D) S8 TREMISTOD T3
C) DTET T3 d) 3T, DLITNO

/2. Bagasse Is

a) Sugar cane waste — 1S used to make paper
D) Biogas — used as fuel

c) Liquid waste — as fertilizer

d) Vermi compost — as fertilizer
WIDR O CIRRTE, LVTEARENTITIT ?
a) BWT TR, — TeDO WRBLD b) 2003R6MmT° — YVTITLON LTPRIR)T
C) TF T, — MAWTEN WFRTYTO d) BT WS- et wEa]

73. The inherent ability of organisms to reproduce and multiply is called

a) Repetition b) Biotic potential

c) Carrying capacity d) None

TR EINMINTOT BT TOS[RDE 303003 TFODTY D0t FTOIZYT ?

a) RDITOWSF b) 20T FROTF C) BRTS TF,F d) oSRPTR ¢
74. Birth rate of population is called

a) Mortality p) Vital index c) Natality d) None

%R0 0DIT BIT TINE?

a) =0T b) F e Qords c) = d) onTR ¢
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75. Photochemical smogis called

a) Tokyosmog D) London smog
c) Los Angeles smog d) None
PRCLRCTTS T1 D0 DFOTI FTCINTYT 7
a) &Rdeodne ARV D) Com Tye
C) SRR QOB QT d) clnmnue 2,
76. Deforestation generally decreases
a) Global Warming b) Drought
c) Soll erosion d) Rainfall
203, T0B00T CIRTHTI BRTOCINNIBE ?
a) TONREYT TOWT b) Fo0
C) 23R IDFY d) =oF WeshF
77. HIV is usually detected by
a) Elisa test b) Hybridization c) Gram staining d) None
RV e300 er T 283032080 2
a) O TOT D) RWEETT C) T3 A, 07T d) cRmTRe 2.

/8. The first global environmental protection treaty “The Montreal Protocol” was
signed on September 16 of

a) 1985 b) 1990 c) 1981 d) 1987
53 TSNS OIND DRET f.xe,:*;;;owof 163 OJIToTH TR0 0ING® FREREICT R Rl TITEDHOWID 9
a) 1985 p) 1990 c) 1981 d) 1987

/3. "Earth provides enough to satisfy every man’s need, but not for everyman'’s
greed” said by

a) Tagore b) Gandhiji c) Nehru d) None
2300030 msxgs @d‘a’ﬁﬁé@d;@ QENROTTS, €5T3T da&?’%f?i m@ﬁo&ﬁ@aﬁ” DOTI) 0T
ZEPTIT

a) LPDNRCT b) modez? C) JH/OD d) cInon 2o

o
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80. The chief chemical element in the biosphere |

a) Oxygen b) Nitrogen c) Hydrogen d) Carbon |
2353 TR EFT 230080, ToAD0IF DAY 03RRI ? |
a) =RET b) T C) WO d) ®Fs !
_FT
81. Thickness of plastic cover permissible to use E
a) 40 Microns b) 20 Microns c) 100 Microns d) 10 Microns !
TXE WeUT T AT TR LUTOIRENTED RS BT ?
a) 40 0TI b) 20 X370 c) 100 T° d) 1035 j
82. Example for an e-waste ;
a) Plastic b) Paper
c) Industnal eftluent d) Mobile Phone
“&—3352:3253& CRTTOBTTB 0IRT/T0 7
a) TAT b) snw C) 3ol 3%, d) Seue’
83. Sedimentary biogeochemical cycle is
a) Oxygen cycle b) Nitrogen cycle
c) Water cycle d) Phosphorus cycie
JR003D Wo3RO3 e FLOTSE 233 AN ?
a) 38w’ 3T, b) Fena” 3y C) QO 3T d) ORFFPTRT
84. Blue baby syndrome is caused by excess of
a) Nitrites b) Sulphates c) Carbonates d) Nitrates
200 23620 20TBREIT CXRTTOT BMOZT 9
a) D) z?e?;@) C) ToRFIees d) e’
85. Mulching helps in
a) Soll fertility b) Moisture conservation
c) Improvements soil structure d) Soil sterility
J33e30N TOSF L30T Q0TI TV &3,0500%S
a) dosgasﬂ POTSZ b) See003 m’odiﬁ
C) O T3S YUBTONAT T d) =0e3 wores
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86. Atmospheric humidity is measured by
a) Auxanometer b) Photometer c) Hygrometer d) None

TOTTITEAT 3T oaﬁdﬁg{ 03N TZOT eﬂﬁﬁodaeggﬁagd )
) BTRLCLIT® D) FPEIpeoedT®  C€) TR0 d) cdnmme @

87. Food levels in ecosystem are called

a) Consumer levels b) Producer levels
c) Herbivore levels d) Trophic levels

TORT :’zsdf&oiagﬁd STV IR DTOTW FTOLITO ?

a) BVRZIT’ dof% D) a@,cﬁ%ﬁoﬁ doégd
C) TWFRPET” &0, d) &dReE® 08

88. All carnivorous animals feeding on other living organisms are called

a) Parasites b) Saprophytes c) Predators d) None of these
3e0 S9,eINYTI S0T0 LTWIBIT FIRF P ET* NP T30 FTOI0TT 2
a) T,00RESF D) =oTPT/ C) ,T3ee30° d) cIRmTe Y.

89. The fungi in a forest ecosystem constitutes

a) Producers b) Primary consumers

C) Secondary consumers d) Decomposers

52005 TORO cfgsdf&ojae‘l ST N

a) @j@mﬁoﬁ; b) THad @iﬁd) c) 8,303 zjiécb d) BRSSINES
90. The tendency of the biological systems to remain in a state of equilibrium is called

a) Net productivity b) Pre-climax

c) Post climax d) Homeostasis

2303 a’ggwfgoodw AROBREVT T2 OIVFRYI SIFODRO DIZTYT ?

a) 20330 VBT D) ye-F 098"

C) TP T BT d) TRCCIPTTOXA?
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91. The organic matter of the soil is called

a) Mould b) Humus c) Nitrate d) Phosphate
B3SO TOD S0 DROWI, N[O FTOIWTO 9
a) [N, b) R = C) e d) R
92. Which of the following is not an important atmospheric pollutant ?
a) CO, b) SO, c) CO d) Hydrocarbons
g5 $INT CINR)TOOT TOWTEY FLOABATIROY ?
a) CO, b) SO, c) CO d) BTRTWED
93. Supersonic jets cause thinning of |
a) CO, layer b) SO, layer c) O, layer d) O, layer
RRTO REEIT BF NPT ORI Y PN 7
a) CO,zwo b) SO,ZTT c) O, TTT d) O, TTOo
94. Discharge of sewage into lakes results in
a) Increase in BOD b) Decrease in BOD
c) Decrease in COD d) None of these
B, ?D’Ed?\’% 3eT 1R WERIRTOOT SBTOR DOFFIT
a) BOD édg@cﬁa b) BOD 3&3&0035mosgcd
c) COD 3&R&E0032mosy)med d) cRTe LY,
95. 51 June is celebrated as
a) World Population Day b) World Environment Day
c) Darwin’s Birthday d) World Hygiene Day
ZRT 500 DTTY HRIORTINISET ?
a) Wm0, OF b) WToe3w WORT O
C) TRFT’ T B, d) T@odT oW T O
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96. Wildlife is highly valuable as
a) Source of food b) Source of food and clothes
c) Source of genes | d) Bio-control agents
DILIEING TODHY, CINRYTE),N ?
a) ¢3T/OT TTOTE N b) &30 202 2Ednon
C) 22ERONG RO ON d) 2odee FotdReer DEoEF NN
g7. Ranganathittu in Karnataka is known for
a) Lions b) Tigers c) Elephants d) Birds
BIOF L3BE3 TONRSLD, CINRTE, a.j%@@ ?
a) 0T b) o C) & d) Siﬁejo

98. Which one of the following layers consists most of the gases ?
a) Lithospheres b) Troposphere c) Hydrosphere d) Stratosphere

B TINS CIRPTTY, ©28 Ted), RNV 7
a) OBREACIT® D) &3,ePREIT? C) RTRREIT, d) = EReAIDT?

99. The maximum number of individuals of a population which can be supported by the
available resources of the environment in a given area is referred as

a) Ecological natality b) Biotic potential

c) Reproductive vigor d) Carrying capacity

WOT) DTETFTOH 336 T, asézioajéwoag{ BOTOBWY, SFOIIY, DTOTO FTOINTYT

a) TOAT WIS b) ¥ 3=,

C) ROTITREDE BB d) TRTOD TOWIRF
100. Knock-knee syndrome is caused by

a) Fluoride pollution b) Lead pollution

c) Mercuric pollution d) Arsenic pollution

JOF - ROBRERIT OINHTO0T WTIBT 7

a) FRT T [PIY b) 2ex &I,

C) doo*‘map 0O d) &0 a’m@;’%
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